Multiplication Word Problems

George’s football album holds 40 stickers on each page. There are 8
pages in his album. How many stickers can it hold?

Magazines cost £1.25. Beth buys 4 magazines. How much money does
she spend?

A class of 32 children need a pair of wellies each for their school trip.
How many children’s wellies will there be in total?

Anna scores 135 points on each level of her game. There are 4 levels.
How many points did she score?

Tom cycles 28 miles a day. How many miles does he cycle over 5 days?

A pair of school trousers cost £22. Mrs Matthews buts 6 pairs. How
much money does she spend?

Vans at the bread factory are packed with 231 loaves of bread. How
many loaves of bread would there be if 8 vans were packed?

5 boys each travel 43 miles on their bikes. How many miles have they
travelled altogether?

Biscuits are sold in packets of 28. In one day 7 packets of biscuits are
sold. How many biscuits is that?

It costs £8.55 to visit the zoo. How much would it cost for a family of 5
to visit?
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Multiplication Word Problems

George’s football album holds 40 stickers on each page. There are 8
pages in his album. How many stickers can it hold? 320 stickers

Magazines cost £1.25. Beth buys 4 magazines. How much money does
she spend? £5.00

A class of 32 children need a pair of wellies each for their school trip.
How many children’s wellies will there be in total? 64 wellies

Anna scores 135 points on each level of her game. There are 4 levels.
How many points did she score? 540 points

Tom cycles 28 miles a day. How many miles does he cycle over 5 days?
140 miles

A pair of school trousers cost £22. Mrs Matthews buts 6 pairs. How
much money does she spend? £132

Vans at the bread factory are packed with 231 loaves of bread. How
many loaves of bread would there be if 8 vans were packed? 1848
loaves

5 boys each travel 43 miles on their bikes. How many miles have they
travelled altogether? 215 miles

Biscuits are sold in packets of 28. In one day 7 packets of biscuits are
sold. How many biscuits is that? 196 biscuits

It costs £8.55 to visit the zoo. How much would it cost for a family of 5
to visit? £42.75
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